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B ATEIIERS AL 7 % /N WMo AWEIXRIES AL 12 % FINEEU
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T H FEEM | B | F E %l i E FEEH | B A | 5 E % [
L IVAS ' — — — | — | FAA ORI " 10 ke 3, 240 864
N WA g [ 200 g 108 86 | WWEA =g 10 ke 2,916 1,188
LA | = B 200 g 108 — | »U - 10 ke 3, 780 1, 944
T g o I R 200 g 113 86 | TAINE— = B 270 g 410 162
E2NATE D = B 200 ¢ 86 64 || WDBHDH = B 270 g 432 216
ERE = S 150 g 75 — | EEfE = R 270 g 702 324
L AEL X K 160 g 108 97 | T—AAAT Y % 9 ke 10, 368 —
AN, B 10 ke 1,512 1, 080 |
EEEICA DA B IF 10 ke 1, 296 864
X< Euy FrEk L 12 ke 1,296 —
V4 B4 10 ke 1, 404 1, 080
L H A . [ 10 ke 5, 400 3, 240
I 2 IF 5 ke 2, 700 2, 268
AarH = E 5 ke 2, 268 —
k< k g2 R 4 ke 1, 296 —
E— AN 150 g 118 —
vl x BEIR S 10 ke 3, 780 —
frERE & 10 ke 3, 240 3, 024
ALzl m B 100 g 151 91
THU * 100 g 59 37
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A . H FEEM | K | 5 E B | &n = FEEM | B ]| B & Z fH
£ < ARE R lke 2, 430 1,080 | &4/ F " 1ke 2, 592 1, 080
BEAHE K 1 kg 1, 296 486 || YN J IV o — 1 ke 1, 080 432
7 = IF 1 ke 1,728 151 | #5 = =S Clke | 2,160 972
Pox AR 1ke 1,296 | - 280 | 4Hi FOER L lke 1,058 —
AT F [ 1 kg 367 | 140 | FUV AL E E 1 kg 3, 456 1, 080
AJAA T £ & 1ke 1,134 453 | BEFY < ke 1% 248 54
&N T " B 1 ke 1,512 280 ' ‘
JEX A = g 1 ke 1,058 540
&&= ™ B 1ke 2, 376 1,728
INE BB 1 ke 1,080 432
73 O E - 1 ke 1, 404 572
i BB 1 ke 3, 132 799
#7 EIRE 1ke 2,052 1, 242
VU7 & W 1 kg 1, 296 756




